TIẾNG ANH 10 FRIENDS GLOBAL
UNIT 8: SCIENCE
GRAMMAR TEST
Exercise 1: Choose the word /phrase (A, B, or C ) that best fits the blank space in each sentence ( 2.5 points)
1. English ____ at state schools as a compulsory lesson for 20 years.
a  is taught					b  has been taught			c  is being taught
The medicine ____ at a high place where the children can’t reach.
a  must be kept				b  should keep			c  have to be keep
Don't touch that cable while it _______.
a  was repaired				b  to be repaired			c  is being repaired
1. The car which ____ by the thieves ____ yesterday by a10 year old child.
a  is stolen / is found			b  had been stolen/ was found	c  is being stolen / is found
The house door ____ open at night.
a  shouldn’t be left			b  must leave			c  hasn’t left

Exercise 2: Complete the text with the correct present perfect or future passive form of the verbs in brackets. (2.5 points)
In 1900 there were 1.6 billion people in the world, but today that number is over 6 billion. 
In the last century, a lot of the world’s forests 1_______________________ (destroy) to provide wood for making furniture and paper. In addition, many of the world’s seas and rivers 2_______________________ (pollute).
Another problem today is how to provide food for the growing number of people in the world. New ways of growing food 3_______________________ (need) very soon. Some new foods 4_______________________ (discover) by scientists in the last few years, and in the future we will eat more of these.
Living space will be another big problem in the future. Perhaps one day new cities 5_______________________ (not build) on land any more − we will build them on or under the sea!

Exercise 3: Three sentences contain mistakes. Tick () the correct sentences. Then circle the mistakes in the other sentences and correct them. (2.5 points)
1. Has your house ever be burgled?					__________________________________
Will teachers be replace by robots one day?			__________________________________
I’ve never been criticised by my friends before.		__________________________________
Solar power will be used a lot more in the future.		__________________________________
Many new cities have been builded in the last 100 years.	__________________________________


Exercise 4: Rewrite each of the following sentences in another way so that it means almost the same as the sentence printed before it. (1 point)
1. Companies make boxes out of cardboard because it’s a cheap material.
Boxes 												.
Builders won’t use concrete as much in the future.
Concrete 												.

Exercise 5: Write second conditional questions using the words below. (1.5 points)
1. A (when / the telephone / invent) 				                                  			?
B In 1876. 
A (which / languages / speak / in Switzerland) 			                               		?
B German, French, Italian and Romansh.
A (how many / astronauts / walk / on the moon) 							?
B Twelve so far. Neil Armstrong was the first.





















ANSWER KEYS
Ex1:
	1. B
	2. A
	3. C
	4. B
	5. A



Ex2:
	1. have been destroyed
	2. have been polluted
	3. will be needed
	4. have been discovered
	5. won’t be built



Ex3:
	1. be= been
	2. replace= replaced
	3. 
	4. 
	5. build= built



Ex4:
	1. Boxes are made out of cardboard because it’s a cheap material

	2. Concrete won’t be used as much in the future



Ex5:
	1. When was the telephone invented?

	2. Which languages are spoken in Switzerland?.

	3. How many astronauts have walked on the moon?



